October 6

Young’s Modulus
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More about springs
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Speed of sound in solids



7N
ﬂ
SNV
- Z,Emww\ _.___~O = 164" A
335 b
5 .0V~ ~
AT RS =7 T

13 ‘(’\ﬂ:’mb



Statics Calculation
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Now the monster: A big road sign is supported by a pole and
cable as shown. How much does the supporting cable stretch?
If a stupid bird flies into the top center of the sign, how long will
it take for that sound to travel along the cable and reach the
pole? Don’t actually do the problem, but do the G and O steps

in the GOAL prf)tocol. L ;%CJJDL\_

e

-~ kel 4&3&
NN g\(/ 10

S it
(/w A} k?;‘)\)

St

cﬂf“



Momentum Principle for Curving Motion
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Geosynchronous Satellite

v
PE =F
1 Sul.&:llill__vl -G ”?E&mh’,é:uuiw 50 v? =G Mgy we know v= 2R
R RX R T
[MR T oM AR oy,
T R T* R

Razcmuur:h 77 or R=3G M e Mg,y T2
4 4r’

A (6x10%K

R:\‘](().?xl[} “-“k—“;)(‘lig) (86400 5)* =7.61x102 =424 x10'm  or 26,400 mi
. T

424x10"m - 64x10°m=3.6x10"m or 22,000 mile altitude




Group A: How fast is Earth traveling such that it maintains a
circular orbit around the Sun?
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Group B: How fast is the Moon tr@rvelmg such that it maintains a
circular orbit around the Earth?
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Group C: How fast is the international space station traveling
such that it maintains a circular orbit around the Earth?
R =360 km + radius of Earth = 360e3 + 6.4e6 = 6.76e6 m
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